
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

¢‚öìëy† Þíyþ™öì̃  ¢Çþ›“þy
1V ˜#öì‰þîû þ™yàþ!Ýþ þ™öìvþüy ~î‚ î%öìGþ öœöì…y õ 1 × 2 = 2

‰þöìœy ¦þy£z ˜#œ%Ð ~£z “þyœî˜ !”öìëû þ™íÐ “þyîû þ™öìîû !“þœöì…“þÐ “þyîû þ™öìîû !“þ!¢öì…“þÐ “þyîû þ™öìîû !”!‡Ð ‹œ …%î ˜#œÐ •yöìîû
•yöìîû „þy”yÐ ‹öìœ xyöìœy !Gþ!œ!›!œ „þöìîûÐ î„þ !›!Ýþ!›!Ýþ ‰þyëû xyîû ›yŠé •öìîûÐ

„þV ˜#œ% ö„þy˜ þ™í !”öìëû ëyöìîÚ

…V !“þ!¢öì…“þÝþy ö„þyíyëûÚ

2V þ™yàþ öíöì„þ „þíy …%¤öì‹ šþy¤„þy ‹yëû†y ¦þîûyÝþ „þöìîûy õ 1 × 2 = 2

„þV xy„þyöìŸîû “þyîûy†%öìœy  „þöìîû ö‰þöìëû xyöìŠéÐ

…V îûyhßþyîû  %̃¤!vþüþ™yíîû þ™öìvþü xyöìŠéÐ

3V Fill in the blanks with ‘a’ or ‘an’ : 1 × 3 = 3

S„þV This is  _________ ox .

S…V That is _________ tree .

S†V It is  _________ ant.

4V „þíy î!¢öìëû Šé„þ þ™)îû’ „þöìîûy õ 1 × 3 = 3

7

9

6

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ



ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ

›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

¢›§ºëû Þíyþ™öì̃  ¢Çþ›“þy
1V ö…yþ™†%!œ öíöì„þ öœ…y !˜öìëû ›yöì̃  î%öìGþy þ™yŸyþ™y!Ÿ î¢yç õ 1 × 4 = 4

„þ … †

“þyœ šþœ …yç

xy!› xy› •%þ™•yþ™

îy!vþü þ™öìvþü …y£z

“%þ!› öšþöìîûy ‰þÝþþ™Ýþ

2V Add letter and make meaningful words : 1 × 3 = 3

„þV _________ + at = _________ .

…V _________ + in = _________ .

†V _________ + ox = _________ .

3V šþy¤„þy ‹yëû†y þ™)îû’ „þöìîûy õ 1 × 3 = 3

”Ÿ„þ ~„þ„þ

„þV ~„þ ”Ÿ ˜ëû  = _________  1  9

…V _________ =       14  1  4

†V ~„þ ”Ÿ ¢y“þ  =       17       



›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

¢›¢Äy ¢›y•yöì̃  ¢Çþ›“þy
1V ˜#öì‰þîû þ™yàþ!Ýþ þ™öìvþüy ~î‚ î%öìGþ öœöì…y õ

!îöì„þöìœ ö›‡ „þöìîû ~œÐ Ÿ˜Ÿ˜ „þöìîû £yçëûy î£zöìŠéÐ ö›œyëû öœyöì„þîûy ££z‰þ£z „þîûöìŠéÐ ~„þÝþy îvþü †yŠé ›vþü›vþü „þöìîû þ™öìvþü ö†œÐ
Ý%þþ™Ýþyþ™ ‹œ þ™vþüöìŠé xy„þyŸ öíöì„þÐ ~„þÝ%þ þ™öìîû£z Gþ›Gþ!›öìëû ˜y›œÐ

¦%þœ x‚Ÿ†%!œ !àþ„þ „þöìîû öœ… õ 1 × 2 = 2

„þV †yŠéÝþy Ÿ˜Ÿ˜ „þöìîû þ™öìvþü ö†œÐ

…V xy„þyŸ öíöì„þ ›vþü›vþü „þöìîû ‹œ þ™vþüöì“þ œy†œÐ

2V ¢y!‹öìëû öœöì…y õ 1 × 2 = 2

„þV !íx!“þ _________

…V ‹xy˜y _________

3V Make three words by joining letters : 1 × 3 = 3

c x o u h t p a

a) ____________________

b) ____________________

c) ____________________

4V ¢›y•y˜ „þöìîûy õ 1 × 3 = 3

„þV ¢„þyœ öíöì„þ ö›ï‰þyöì„þîû „þyöìŠé 7!Ýþ ö›ï›y!Šé vþzvþüöìŠéÐ ~„þÝ%þ îyöì” xyîûç 3!Ýþ ö›ï›y!Šé vþzöìvþü ~öìœyÐ “þy£öìœ ö›yÝþ „þóÝþy
ö›ï›y!Šé £œÚ

…V xy›îûy 6 ‹˜ ›yöìàþ ö…œöì“þ ö†œy›Ð ~îû þ™îû 0 ‹˜ ›yöìàþ ~öìœyÐ “þy£öìœ ~…˜ ö›yÝþ „þ‹˜ £œÚ

†V îy‹yöìîû !†öìëû îyîy ~„þÝþy ö”y„þy˜ öíöì„þ 6Ýþy !‹!˜¡ì ö„þöì̃ ˜Ð xyîû ~„þÝþy ö”y„þy˜ öíöì„þ 4Ýþy !‹!˜¡ì ö„þöì̃ ˜Ð “þy£öìœ
îyîy ö›yÝþ „þóÝþy !‹!˜¡ì ö„þöì̃ ˜Ú

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ



›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ
²Ìí› ö×!’

›y˜!¢„þ ç Ÿyîû#!îû„þ ¢›§ºëû ¢y•˜
1V ö“þy›yîû ö”…y ¢„þyœöìîœyîû Šé!î x¤yöì„þy xyîû Šé!îÝþyöì„þ !˜öìëû îy‚œyöì“þ ”%öìÝþy œy£z̃  öœöì…yÐ 4

2V Colour the picture given below and write the name of the objects

3

3V Šé!î ~¤öì„þ ö”…yç öë ~„þÝþy vþyöìœ 3öÝþ þ™y!… îöì¢ xyöìŠé xyîû 1!Ýþ þ™y!… vþzöìvþü ~œÐ šþöìœ ö›yÝþ 4öÝþ þ™y!… £œÐ 3

ŠéyeŠéye#îûy îy!vþüöì“þ !˜öì‹îû !î¡ìëû!¦þ!_„þ …y“þyëû ~†%öìœy „þöìîû !î”Äyœëû …%œöìœ !ŸÇþöì„þîû „þyöìŠé ‹›y ö”öìîÐ
ö„þyöì̃ y xîÞíyöì“þ£z “þyîûy îy!vþüîû îy£zöìîû öîöìîûyöìî ̃ yÐ


